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| Answer all the question
1) The excess of assets over liabilities Is

marks: 90
1=20

] a) Loss b) Cash c) Capital d) Profit "
! 2) Opening balance of debtors: Rs.30,000, cash received: Rs.1,00,000, credi
: sales: Rs.90,000; closing balance of debtors is
! a) Rs.30,000 b) Rs.1,30,000 ¢) Rs.40,000 d) Rs.20,000
3) Receipts and payments account is a
a) Nominal A/C b) Real A/C

c) Personal A/C d) Representive personal account
4) Which of the following should not be recorded in the income and expenditure account?
a) Sale of old news papers b) Loss on sale of asset
¢) Honorarium paid to the secretary  d) Sale proceeds of furniture
5) Which of the following is the incorrect pair?
a) Interest on drawings - Debited to capital account
b) Interest on capital - Credited to capital account
c) Interest on loan - Debited to capital account
d) Share of profit - credited to capital account
6) Pick the odd one out
a) Partners share profits and losses equally
b) Interest on partners' capital is allowed at 7% per annum
¢) No salary or remuneration is allowed
d) Interest on loan from partners is allowed at 6% per annum
7) Which of the following statements is true?
a) Goodwill is an intangible asset b) Goodwill is a current asset
c) Goodwill is a fictitious asset d) Goodwill cannot be acquired
B) When the average profit is Rs.25,000 and the normal profit is Rs.15,000,
super profit is
a) Rs.25,000 b) Rs.5,000 c) Rs.10,000 d) Rs.15,000
9) On revaluation; the increase in the value of assets leads to
a) Gain : b) Loss c) Expense d) None of these
10) Match List I'with List I and select the correct answer using the codes given below:
List I List IT
i) Sacrificing ratio 1. Investment fluctuation fund
i) Old profit sharing ratio 2. Accumulated profit
iii) Revaluation Account 3. Goodwill
iv) Capital Account 4. Unrecorded liability
Codes :
G @iy (iv)
a) 1 2 3 4

b} 3 2 4 1
c) 4 3 2 1
d)y 3 1 4 2
11) At the time of retirement of a partner, determination of gaining ratio is required
a) To transfer revaluation profit or loss
b) To distribute accumulated profits and losses
c) To adjust goodwill

d) None of these
12) A, B and C are partners sharing profits in the ratio of 4 ; 2 : 3. C retires. The

new profit sharing ratio between A and B will be
a)4:3 b)3:4 €)2:.1 d)1:2
13) A preference share is one
(i) Which carries preferential right wiht respect to payment of dividend at fixed rate
(i) Which carries preferential right with respect to repayment of capital on winding up
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C} B'Gth i i . -f d) Both (i) and (i) are incorrect
14:" If 3 g‘am{c} :;?ﬂ{f:j :;:—:jfggg?m been paid upis forfeited. Mirnrrlumrr".mf:'l 1 e |5
E:I Rs.10 per:-'-l'llﬂﬂ* b) Rs.8 per share c) Rs.5 per share ad) Rs. 2 par share

s do not exhibit
15) The financial statements b) Past data

a) Non-monetary data d) Long term data

) Short term data I i
i wing statements Is not true
B :; rxﬂ*;h?;ﬂtn':ft:ggﬁs ufgﬁnanr:lal statements are applicable to financial statement

lysis also. )
bjal:n;ﬁ;ncial statement analysis is only the means and not an end.

ired i lysing the financial statements,
c) Expert knowledge is not required in ana
d; Inf&rpretatiun of the analysed data involves personal judgement. _
17) The mathematical expression that provides 8 measurc of the relationship

between two figures is called

a) Conclusion b) Ratio c) Model d) Recpf!
18) Current liabilities Rs.40,000; current assets Rs.1,00,000; Inventory Ks.2U000,
Quick ratio is
a)l:1 by2.5:1 &2 il g) .2
19) Function key F11 is used for _ 9
a) Company Features b) Accounting wbuchers
c) Company Configuratian d) None of these
20) Salary account comes under which of the following head?
a) Direct Incomes b) Direct Expenses
c) Indirect Incomes d) Indirect Expenses
PART-B ; 7x2=14

Answer any Seven question. Question No. 30is compulsory.

21). Give four examples for capital receipts of not-for-profit organisation,

22) The capital account of Begum and fatima on st January, 2018 showed
balance of Rs.50,000 and Rs.40,000 respectively. On 1st October, 2018,
Begum introduced an additional capital of Rs.10,000 and on 1st May, 2018
Fatima introduced an additionalgapital of Rs.2,000,

Calculate interest on capital at 4% p.a. for the year ending 31st
December, 2018

23) .The following are the profits. of a firm Iin the last five years:

2014 : Rs.10,000; 2015:Rs.11,000; 2016 : Rs.12,000; 2017: Rs 13,000
and 2018 ; Rs.14,000
Calculate the value of goodwill at 2 years purchase of average profit of five years,
24) Arul and Anitha are partners sharing profits and losses in the ratio of 4 * 3,
On 31.3,.2018, Ajay was admitted as a partner. On the date of admission,
the book.of the firm showed a general reserve of 42,000, Pass the journal
entry to distribute the general reserve.
25)* What is gaining ratio?
26). What is over-subcription?
27)What is working capital?
28) Calculate gross profit ratio from the following:
Revenue from Operations Rs.2,50,000, cost of revenue from operations
Rs.2,10,000 and Purchases Rs.1,80,000.

-29) State any four accounting reports.

30). From the following details, Calculate the missing figure:

Particulars Rs.
Capital as on 1st April, 2018 40,000
Capital as on 31st March, 2019 50,000
Additional capital introduced during the year 7,000
Profit for the year 8,000
Drawings during the year ?

PART - C | 7x3=21
Answer any Seven question. Question No. 40 is compulsory.
31). Mﬁéﬁdffzermbetweendmhbmm and incomplete records. (any three)
32) From the following particulars, show how the item 'subscription’ will appear
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WAY T%%%gg;;ued I'I:i 2018 is rs.50,000 whiy, "'I:Fr"-idl ended 31-12-20187
arl:d Rs.7,000 for 2019. Subscription outstanding 1, tilﬂ‘:ff;ﬁ;h‘ﬁ.gﬂu for 2017
oy ! : car 1
Subscription of Rs,4,000 was received in I.!nl:lmfmﬁt‘.".:t for 2018 in th: 2:.%5043.
33).State the differences between fixed capital metliog year 2017,

inid Huckuatingg a0
method.(any three) . 4.Capital

34), From the following information, calculate the v 1 goodwill ba«,

years purchase of super profit

1) capital employed : Rs.2,00,000

i) Normal rate of return : 15% _

i) Average profit of the business : Rs. 42,000

Amudha and Bhuvana are partners who share profits and sses in the ray o 5

- 3. Chithra joins the firm on 1st January, 2019 for 3/8 shar€uf profits and | 4rgs

in cash for her share of goodwill of Rs.8,000. Pass necessary jouimal ciypay for

adjusting goodwill on the assumption that the fluctuating capital 1 i:thod 5% iowed
and the partners withdraw the entire amount of their share of g adwill,

36) Kavyal, Mala and Neela are partners sharing profits in the ra!_._m'nf 2:2:M
Kaval retries and the new profit sharing ratio between Nila and gcla 5 %2,
Calculate the gaining ratio, : '

37) Abdul Ltd. issues 50,000 shares of Rs.10 each payable Tully oni&pgization.
Pass journal entries if shares are issued .

i o3

Lad
Ty
o

(i) At par 4

(i) at a premium of Rs, 3 per share \
3d) Bring out the limitations of ratio analysis. (any three) N
3%% Mention the commaonly used voucher types in 1ally.ERP 9.
40), From the following particulars, prepare comparative income statement of Arul Ltd. \

Particulars 2015-46 2016-17
Rs. Rs.

Revenue from operations 50,000 60,000

(ther income 10,0007 30,000

Expenses 40,000 50,000

PART-D 7x5=35

Answer all the question.

41) a) David does not keep proper books of accounts. Following details are
given from his récords.

Particulars -1.4_.2013 31.3.2019
Rs. Rs.
Cash . 43,000 29,000
Stock of goods 1,20,000 1,30,000
Sundry debtors 84.000 1,10,000
Sundrycreditors 1,05,000 1,02,000
Loan 25,000 20,000
Business premises 2,50,000 2,50,000
Furnifure 33,000 45,000

During the year he introduced further capital of Rs.45,000 and withdrew
Rs°2,500 per month from the business for his personal use. Prepare statement
of profit or loss with the above information.
(OR)
b) From the following details of Rakesh, prepare Trading and Profit and Loss
account for the year ended 31 March, 2019 and a Balance Sheet a¢ on

that date.
Particulars 31.3,2018 31.3.2019
Rs, Rs.
Stock of goods 2,20,000  1,60,000
Debtors 5,30,000 6,40,000
Cash at bank 60,000 10,000
Machinery 80,000 80,000

Sundry creditors  3,70,000  4,20,000
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Ren ars Rs, Particulars Rs.
t paid
Dis 1,20,000 Cash received from debtors  12,50,000
Dlhf.'ﬂunt TeCeivaqy 35,000 Drawings 1,00,000
scount alloweyg 25,000 Cash sales 20,000
42) Cash paid to Creditors 11,00,000 Capital as on 1,4.2018 5,20,000
J

43}_' @) Durai and Velan entered into a

www, waytosucecess org

b) Akash, Bala, Chandru and Daniel are pPartners in

1.IEI} From the following paritcualrs of Poompuhar Literary Association,

Prepare Receipts and Payments account for the year ended 31st March,
2019

Parti Rs. Particulars . Rs.
UDEn'tng n:a:ﬁ:;g:d ason 1.4.2018 5,000 Subscription received EE,E{}D
Bank overdraft ason 1.4.2018 4,000 Repairs and renewals 2,500
Printing and stationery 1,500 Conveyance paid 2,750
Interest paid 3,250 Books purchased 10,000
Sale of investments 1,000 Insurance premium paid 4,000
Purchase of refreshments 1,500 Sundry receipts 750
Outstanding salary 2,000 Government grants received 6,000
Endowment fund receipts 2,000 Sale of refreshments 1,500
Lighting charges 1,300 Depreciation.on buildings 2,000

Cash at bank on 31.03:2019 2,000
(OR)

) Frgm the following Receipts and Payments Account of Friends Football
club, for the year ending 31st March 2017, prepare Income and
Expenditure Account for the year ending 31st March, 2017 and the
Balance sheet as on that date

In the books of Friends Football Club
Receipts and Payments Account for the year ended 31st March, 2017
Dr.

< Cr.
Receipts Rs. Rs. Payments Rs. Rs.
To Balance b/d By Furniture 7,000
Cash 1,000 By Sports materials
purchased 8,00
Bank 10,000 111,000 By Special dinner expenses 1,500
To Subscriptions 5,000 By Electricity charges S00
To Legacies 6,000 By Balance c/d
To Collection for
special'dinner 2,000 Cash in hand 1,800
Cash at bank 12,000 13,800
24,000 24,000
Additional information:
i) " Theelub had furniture of Rs.12,000 on 1st April 2016. Ignore depreciation
on furniture.

I} Subscription outstanding for 2016-2017 Rs.600.
i) Stock of sports materials on 31.03.2017 Rs.100.
iv) Capital fund as on 1st April 2016 was Rs.23,000.

agreement provided that:

a) Profits and losses to be shared in the ratio 2 : 3 as between Durai and Velan

b) Partners to entitled to interest on capital @ 5% p.a.

¢) Interest on drawings to be charged Durai: Rs.300 Velan : Rs.450
d) Durai to receive a salary of Rs.5,000 for the year, and

€) Velan to receive a commission of Rs.2,000

During the year, the firm made a profit of Rs.20,000 before adjustment of interest
salary and commission. Prepare the Profit and loss appropriation account :

(OR)

Partnership deed. How will ‘Fﬂﬁ deal with the folloyy

partnership agreement on 1st April 2018,
Durai contributing Rs.25,000 and Velan Rs.30,000 as capital. The

a firm. There is no
mgﬂlﬂﬂ@gmaﬂ.com

S



wa¥RAGUCCESS 9 of

1) Akssh has contributed maximum captial. He demands inleres!

capilal al PO per annum
i Mals has witdrawn Rs. 3,000 per moanth Other partners ask Bala 1O
pay Interest on deawling s @ B%, per anmom iy Ve (i, Bat, Bala riid

Pl e e i

) Akash degpands the profit to e shared in ithe capital ratio. Put,
athira olo nol agrees

iv) Dandel demands salary at the rate of B8 10,000 per month as Fee
spends Tull Hine for the business

v) Loan advanced by Chandru 1o the Tirm is Rs,.50,000 He demands
Interest an loan ah 12% per anium

44) a) From the following information, compute the value of goodwill as per

annuity melhod;
a) Capital employed ; K+ 50,000
b) Normal rate of return: 10%
c) Profits ol the years 2016,2017 and 2018 were Rs, 13,000, R 05,000
and Rs. 17,000 respectively.
d) The present value of annuity of Rs. 1 for 3 years at 10% is Rew@1116,5
(OR)

h), Seenu and Siva are partners sharing profits and losses intheratio of 5 -

3. In the view of kowsalya admission, they decided.
@) Toincrease the value of bullding by Rs.40,000
b) To bring Into record investments at Rs.10,000, which have not so far
been brought inte account
) Todecrease the value of machinery by Rs.14,000 and furniture by Rs, 12,000
d) To write off sundry creditors by‘Rs. 16,000,
Pass journal entries and preparerevaluation account.

45) a]'Prabu, Ragu and Siva partners sharing profits and losses in the ratio of

b)

3:2:1. Prabu retires from partnership on 1st April 2017, The following
adjusments are to be made: _

i) Increase the value of building by Rs.12,000

i) Reduce the value offurniture by Rs.8,500 .

iif) A provision would also be made for outstanding salary for Rs.6,500
Give journal entries and prepare revaluation account,

(OR)

Manju, Charu and Lavanya are partners in a firm sharing profits and
losses in the ratio of 5 : 3 : 2. Their balance sheet as on 31st March,

2018 is as follows:

Liabilities Rs. Rs. Assets Rs.
Capital accounts: Buildings 1,00,000
Manju 70,000 Furniture 80,000
Chamt . 70,000 Stock 60,000
Lavanya 70,000  2,10,000 Debtors 40,000
'Sundr: creditors 40,000 Cash in hand 20,000
Profit and loss A/C 50,000 - =

3,00,000 3,00,000

following adjustments:

- i) Stock to be depreciated by Rs.10,000

46) a)

b)

i) Provision for doubtful debts to be created for Rs.3,000
i) Buildings to be appreciated by Rs.28,000 "
Prepare revaluation account and capital accounts of partners after retiremen I:
Maruthu Ltd. forfeited 150 equity shares of Rs.10 each for non paymen
of final call of Rs.4 per share. Of these 100 shares were reissued @ Rs.9
per share. Pass journal entries for forfeiture and reissue.

e fRs.10
Viswanath Furniture Ltd. invited applications for 20,000 shares of RS.
each a premium of Rs.2 per share payable.

vy wayioguceess, org S wiateam 100@egmail com



WAY TO SUCCESS
. 6

Rs.2 on application

Rs.5 (including premium) on allotment

Rs.5 on first and final call

There was over subscription and applications were received for 30,000

shares and the excess applications were rejected by the directors. All

the money due were received. Pass the journal entries,

‘[ Particulars  Rs.inlakhs
o | Yearl | Year2 | Year3
I. EQUITY AND LIABILITIES i
Shareholder's fund 250 275 300
Non-current liabilities 100 125 100
Current liabilities . 40 80 |
Total 400 -~ | 440°, [\ 480 |
11. ASSETS
| Non-current assets 300 360 390
Current assets 100 80 90
| Total 400 440 480
(OR) |
b) From the following trading activities of Jones Ltd: calculate
(i) Gross profit ratio (ii) Net profit ratio
(iii) Operating cost ratio (iv) Operating profit ratio
. Statement of Profit and Loss
Particulars Rs.
I. Revenue from operations 4,00,000
I1. Other income:
Income from investments __ 4,000
I11. Total revenues (I + II) 4,04,000 .
IV. Expenses:
Purchases of stock-in-trade 2,;3,333
Changes in inventories 24000

Finance costs _
Othér expenses (Administration and selling) 60,000

Total expenses atgglggg
V. Profit before tax (III - IV) i

vwrw wayioguccess . org & wisteam 100@gmail com
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fime :3.00 hrs. grope ACCOUNTANCY Mo fawem + e
PART -1 |
Ans_w..- all the question. Choose the correct answer with option code 20 %1 %20
1. Which one of t

_ he following statement is not true in relation to incomplate records?
a) it 1S an unscientific method of recording transactions b) Records are maintained only for cash and parsonal ACConts
5 33, tis Suntablg for all types of organisations d) tax authorities do not accept > IO,
| hgp Capital in the beginning is 310,000, drawings during the year is 712,000, profit made during the year is 72,000 and fhe
additional capital introduced is 33,000 find out the amount of capital at the end a) 79,000 b) 211,000 <) 721,000 d) 73,000
Receipts and payments account records receipts and payments of
a) Revenue nature only b) Capital nature only c¢) Both revenue and capital nature d) None of the above
4. Llegacyisa...... a) Revenue expenditure b) Capital expenditure c¢) Revenue receipt d) Capital recoipt )
9. When fixed capital method is adopted by a partnership firm, which of the following items will appear in capital accourt?

a) Additional capital introduced b) Interest on capital c) Interest on drawings d) Share of profit
6. Which of the following is the incorrect pair?

; a) Interest on drawings - Debited to capital account

D) Interest on capital . Credited to capital account ;
| c) Interest on loan - Debited to capital account

; d) Share of profit . Credited to capital account

| 7. The average rate of return of similar concerns is considered as

' a) Average profit b) Normal rate of return c) Expected rate of return d) None of these

8. The total capitalised value of a business is 31,00,000 ; assets are 1,50,000 and liabilities are 780,000. The value of goodwill as
per the capitalisation method will be a) 340,000 b) Z70,000 c)Z1,00,000 d) 30,000

9. At the time of admission, the goodwill brought by the new partner may be credited to the capital accounts of
a) All the partners b) The old partners c) The new partners d) The sacrificing partners

10. Select the odd one out
a) Revaluation profit b) Accumulated profit c) Goodwill brought by new partner d) Investment fluctuation fund

11. On retirement of a partner from a partnership firm, accumulated profits and lesses are distributed to the partners in the
a) New profit sharing ratio b) Old profit sharing ratio c) Gaining ratio d) Sacrificing ratio

12. A. B and C are partners sharing profits in the ratio of 4 : 2 : 3. B retires. “The‘new profit sharing ratio between A and C will be
a)4:3 b)3:4 c)2:1 d)1:2

13. The part of share capital which can be called up only on the winding up’of a company is called °
a) Authorised capital b) Called up capital c¢) Capital reserve ,d_.)"R.feserve capital ;

14. Supreme Ltd. forfeited 100 shares of I10 each for non-payment offinal call of 71 per share. All these shares were re-issued at 79
per share. What amount will be transferred to capital reserye account? a) J700 b) 7800 c) J900 d) 71,000

i 15 The financial statements do not exhibit ~

- T TTETE FELTTEL

a) Non-monetary data. b) Past data c) Short term data d) Long term data

16. In a common-size balance sheet, if the percentage(of non-current assets is 80, what would be the percentage of current assets?
a)175 b)125 ¢)25 d) 20 |

17. Current ratio indicates N )
a) Ability to meet short term obligations b) Efficiency of management ¢, Profitability d) Long term solvency

18 Cost of revenue 'from operations Z3,00,000 ; |nventpw In the beginning of the year 760,000 ; Inventory at the close of the year
| 40 000,’ Inventory turnover ratio is a) 2 times b) 3times c)6times d) 8 times

e i inag to the requirements of the user is
 Accounting report prepared according '
" a) Routmegaccr;}sunting report b) Special purpose report c) Trial balance  d) Balance sheet

h is.not the default group in Tally?
“ :\;hsli*;;znse ’ac?count $) Outstanding expense c) Sales account d) Investments

PART -l .
v 7 auestions. Question No.30 is compuisory. | Tx2m14
21 :‘gllﬁot:ir:ga aie ::19 balances in the books of Nimal Kumaran as on 31st March 2019.

'~ Particulars < Particulars =
Cl’editOfs 6:001000 Bills payable 1.20.000
Furniture 80,000 Cash in hand 20,000
L and . 3,00,000 Bills receivable 60,000.
Sundry Debtors 3,20,000 Stock 2,20,000

Prepare a statement of affairs as on 31st Marth 2019 and calculate capital as at that date.

. . {7
 What is receipts and payments accoun

3:23 Kevin and Francis are partners. Kevin draws 76,000 at the middle of each quarter, Interest on drawings is chargeable at 4% p.a.
. Calculate interest on drawings for the year ending 31st March 2019 using average periad.

is super profit? .
gg ;Vtgtaet whettfer tFI:e following will be debited or credited in the revaluation account,

: ) Depreciation on Machinery b) Unrecorded liability c) Provision for outstanding expenses d) Appreaciation of assets
gheena Surya and Janaki are partners sharing profits and losses in the ratio of 3 : 2 : 1, On 31.,3.2018. Dheena retired. On the
26. ats of r'eti rement, the books of the firm showed a reserve fund of ¢ 60,000. Pass journal entry to transfer the reserve fund.

, .q 100 shares of 710 each of Vanavi Electronics Ltd., issued at par, He paid 23 on application, 74 on allotment but
27. Arun was holding, | 12 - Accountancy - 1 P <

——— R —
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g v : . o JE W ey, Give journal entry fo

© N i * S

couid not pay the first and final call of ?3 The d:r&ctms forfeited the shares for ﬂOn'payment O

forfeiture of shares. Marcyh, 201
ad 31st Marcyh, 2018,
28. From the following particulars of Kala Ltd, prepare a common-size income statement for the year on
Particulars 2018-2019 ()
Revenue from operations - 5,00,000
Other income 20,000 '
Expenses 3.00.000 Prepaid expe
28. Calcualte quick ratio . Total current liabilities ¥3,60,000 ; Total current assets J4,50,000 inventories 370,000 ep NSes
220,000

30. What is automated acoounting system?

PART - il  Tx3m2

Answer any 7 questions. Question No.40 is compuls .
31. From the information given below, prepare Receipts anﬁamanm aceount of Coimbatore Cricket Club for the year ending 31«

March. 2019 >
Particulars | Particulars b ,
Bank overdraft (1.4.2018) | < 6,00}; Wonararium Paid 2,800
Cash in hand {1 42013) 1‘000 E'GCtTiC"Y charges i < 700
vages paid for ground | | Match expenses 2,600
Maiensnce | - 2,000 Sports material purchased 1,900
Subscription received . ' Match fund receipts 9,200
PrevVious Year ~ 500 ‘ Legacies received | 2,000
Lurrent Yoar 9,600 Cash balance (31.03.2019) 300
Subsequent Year 400 B Donation received for pavilion | 3,000
| | —— 10,500 Interest on loan paid - 2,000
Wages vet to be paid 2.200 , | |

3Z2. Ahamad and Basheer contribute 360,000 and J40,000 respectively as capital. Their respective share of profitis 2: 1 apd the profit
before interes! on capital for the year is 5,000. Compute the amount of interest on capital in each of the following situations.
)t the partnership deed is silent as to the interest on capital.
u) if interest on capital @ 4% is allowed as per the partnership deed. f
ui} If the partnership deed allows interest on capital @ 6% per annums | ”

33. From the following details. calculate the value of goodwill at 2 years purchase of super profit :
&) Tota! assets of a firm are $5,00,000  b) The liabilities of the firm are §2,00,000
Cc} Nomal rate of return in this class of business is 15%  d) Average profit of the firm is 360,000

34. Han Madhavan and Kesavan are partners, sharing profits and losses in the ratio of 3: 1 : 1. As from 1st April 2017, Vanmathi is
acmitted into the partnership and the new profit sharing ratio.is?deéided as4:3:2:1. The following adjustments are to be made.
a) Increase the value of premises by 360,000 b) Depreciate stock by F5,000, furniture by 22,000 and machinery by 32,500
c) Provide for an outstanding liability of F500. Prepare revaluation accfount. |

35. Janani, Janaki and Jamuna are partners sharing profits and losses in the ratio of 3 : 3 : 1 respectively. Janaki died on 31st
December. 2077 Final amount due to her showed‘a credit balance of F1,50,000. Pass journal entries if,
a) The amount due is paid off immediately. b) The.amount due is not paid immediately.
c) 270,000 is paid and the balance in future. 4.\ *

36 Abdul Lid. issues 20,000 equity shares of 310 each payable fully on 'application. Pass journal entries if shares are issued
|y at par i) at a premium of J2 per share. ;

37. Calculate operating profit ratio under the following cases. m
Case 1 = Revenue from operations 78,00,000, Operating profit F2,40,000, ?AJAGTANAP | r R
Case 2  Revenue from operations 220,00,000, Operating cost 314,00,000.

38. Explamn now io view profit and loss statement in Tally.ERP 9. " B V HS'S qu B '

39 Prepare common size statement of financial position for the following particulars of Raja Ltd. '
Particulars 31* March 2016 (2) 31* March 2017 () ERODE (Df) '
|. Equity And Liabilities A
Sharehoider's Fund 5,40,000 R 6,00,000
Non-curernt liabilities 2,70,000 T s 2,50,000
Current Liabilties f 90,000 - 1.50,000
Total 9,00,000 7~ 10,00,000
{l. Assets '

Non-current assets 7,20,000 - 8,00,000 -
Current assets ' 1,80,000 ' 2,00,000
Total 8,00,000 | 10,00,000
40. From the following particulars calculate total purchase.
Particulars J Particulars
Sundry creditors on 1% Jan, 2018 30,000 Purchase returns 15 oog
Bills payable on 1% Jan-2018 25,000 Cash purchase 6 22'000.
Paid cost to creditors 1,20,000.- Creditors on 31% Dec, 2018 '25‘000
Paid for bills payable - 30,000 Bllls payable on 31 Dec, 2018 20,000
PART - IV |

Answer all the questions
41. a) Arun carries on hardware business and does not keep his books on double entry basis.

12 - Accountancy - 2

Tx5=235
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The following particulars have been extracted from his books.
particulars

31.12.2017 31.12.2018
Land and building 2,50 oog 2,50 oog
Stock-in-trade 1,20.000 1.70.000
Debtors 40,000 51,500
Creditors 50,000 45,000
Cash at bank 30,000 53,000
Other information for the year ending 31.12.2018 showed the following.
Wages J65,000
Carriage outwards < /,500 A
Sundry expense 328,000
Cash paid to creditors ?6.00'000
Drawings <10,000

Total sales d‘uring the year were 37,70,000. Purchases returns during the year were 730,000 and sales returns were 325,000.
;i-‘-c;eR;.;are trading and profit and loss account for the year ending 31st December, 2018 and a balance sheet as on that date.

b) fia‘: anya Ltd. issued 20,000 equity shares of 10 each to the public at par. The details of the amount payable on the shares are
a8 TONOWS .

On application J3 per share
On aliotment J4 per share
On first and final call I3 per share

Application money was received on 230,000 shares. Excess application rﬁoney was refunded immediately. Pass journal entries
to record the above. |

42  a) Following is the Receipts and Payments account of Neyveli Science Club for the year ended 31st December, 2018.

Receipts =4 Payments <
To Balance b/d - Cash in hand 2,400 By Balance b/d-Bank overdraft 1,000
To Subscription 8,700 By Postage expenses | 200
To Life membership fees | 5,000 By Science equipments purchased 10,000
To Exhibition fund receipts ' ' 7000 By Laboratory expenses | 2,400
To Sale of science equipments  »' . 6,000 By Secretary’'s honorarium 5,000
(Book value Rs.5000) A By Audit fees - 3,600
To Miscellaneous income | 4Gt T 500 By General charges | - 1,800
e, 14 - By Exhibition expenses L 5,000

£ - «By Balance c/d - Cash in hand 200

- | - Cash at bank | . 400

29,600 | | | 29,600

Additional information : i) Opening capital fund 76,400 ii) Subscription includes F600 for the year 2019 iii) Science equipment
as on 1.1.2018 35,000 iv) Surplus on account of exhibition should be kept in reserve for new auditorium. Prepare income and
expenditure account for the year ended 31st December, 2018 and the balance sheet as on that date. (OR)
) From the following particulars, prepare comparative income statement of Barani Ltd. |

Particulars 2016 - 17 2017 - 18

4 <
Revenue from operations | 30,000 45,000
Other income | 4,000 . 6,000
Expenses 10,000 . 15,000
ncome tax 30% 30%

43 a) Dinesh and Sugumar entered into a partpership agreement on 1st January 2018, Dinesh contributing J1,50,000 and Sugumar
51 20,000 as capital. The agreement provided that : . |
a) Profits and losses to be shared in the ratio 2 : 1 as petween Dinesh and Sugumar. b) Partners to be entitled to interest on capital -
@ 4% pa c)Interest on drawings to be charged Dinesh : ¢3,600 and Sugumar J 2,200
d) Dinesh 1o receive a salary of ?60',000 for the year. | |
&) Sugumar to recelve a commission of 80,000 Durlng.the year ended on 31st December 2018, the firm made a profit of
9 20 000 before adjustment of interest, salary gnd commission. Prepare the Profit and loss appropriation account. (OR)
h) What is goodwill? State any 4 factors Qeterrnlnlr\g good will.

44 a) The following particulars are avallable mrrespect of’lhe business cgrrled on by a partnership firm : |
) Profits earned : 2016 26,000, 2017 723,000 and 2018 326,000 i) Profit of 2016 includes a non-recurring income of 32,500
i) Profit of 2017 is reduced by 73,500 due 1o stock destroyed by fire. Iv) The stock was not insured. But, it is decided to insure thg
stock in future. The insurance premium is estimated to be 500 per annum. You are required to calculate the value of goodwill
of the firm on the basis of 2 years purchase of average profits of the last three years. (OR) |
b) From the following trading activities of Jones Lid. Calculate (i) Gross profit ratio (li) Net profit ratiio (iii) Operating cost ratio

™ | fit ratio.
(iv) Operating pro Statement of Profit and loss

Particulars ' | 4
. Revenue from operations 4,00,000

12 - Accountancy - 3
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"W Qme
1. Other Incc 4;000

: 'nuﬂnjﬂ from ““fﬂﬂtmant'
ﬂ il Total revenues (I+H) 4,04,000
j V. Expenses
Purchases of stock-in-trade 2';8.383
: Changes in inventories 24'000
Finance Costs 2 ‘aelling) 60'000
; chm lvxlmnsua (Administration and se ng) 4 24'000 o 2017 i as under
i Total exponses .80'000 on 31 . Mﬂr ?
v Profit before tax (l11-1V) .4 Their balance gheet 29 25 000
1 45 @) Rajan ans Selva are partners sharing profits and losses In the ratio 3 . 1A3eeta 1*000
l Liabilities < 4 Buildmg 20'000
Cﬂg:::‘f: oounts 30,000 Furniture 16,000
' ‘ Selva | 16,000 . Stock ‘ 3,000
oo 46,000 Dzbw"*?wb,e 12,500
,. 4,000 Bills re¢® 10,000
g;n;:f):,smsem i s e galg:s account S
Profit an 87,500
i PO,
§ 87,500
S serve of 5% on
On 1.4.2017. they admit Ganesan as a new partner on the following arraﬂge""““l:'rt:'is to be reduced DY 10%, 8 1@

i) Ganesan brings & 10,000 as capital for 1/5 share of profit. i) Stock and furn

debtors for doubtful debts is to be created. iii) Appreciate buildings by 20% OR)

Prepare revaluation account, partner's capital account and the balance sheet. |
income and expenditure

account of Kumbakonam Basket Bal

b) Erom the following receipts and payment account, prepare s
Association for the year ended 31" March, 2018. | 4
Particulars Rs. Rs. Particualrs ” 2.000
To Balance b/d , | By Rent of ground pal 6,000
Cash in hand 23,000 By Bank charges o 2,000
Cash at bank 12,000 By.Insurance for bul mgs 16,000
To rent of hall received ~ 6,000 . ‘By Tou;m?me"t expense 3,000
’ ipti _ | N By Audit fees 4 000
e e 00 ()" By Sports materials purchased
| 2017-18 7,000 AN By Balance c/d ; 2.000
| 2018 - 19 1,000 A Cash in han 14,000
' ' 11,000 — . Cash at bank
To Life membership fees 5,000
To.Locker rent received 2,000 ;
- 59,000 59,000

3. Their balancé sheet as on

46. a) Saran, Arun and Karan are partners in a firm sharing profits and losses in.the ratio of 4 : 3 :

31.12.2016 was as follows :

Liabilities =4 | J Assets =4 <
Capital accounts : Buildings 60,000
Saran - 60,000 ) Machinery 40,000
* Arun | 50,000 o Investment 20,000
Karan 40,000 0 Stock . 12.000

e e 1,50,000 Debtors 25 000

General reserve 15,000 (-) Provision for bad debts 1,000
Creditors 35,000 | ~ 24,000
Cash at bank 44000
2,00,000_ 2 00,000

Karan retires on 1.1.2017 subject to the following conditions
i) Goodwill of the firm is valued at ¢ 21,000 ii) Machinery to be appreciated by 10% iii) Buildings to be valued at ¥ 80,000

iv) Provision for bad debts to be raised to ¥ 2,000 v) Stock to be depreciated by ¥ 2,000 vi) Final amount ' '
immediately. Prepare revaluation account and capital account of partners after retirement. (OR) due to Karan is not paid

b) Kaarvembu Ltd issued 50,000 equity shares of J 10 each at par payable on application F 2 per sh

share, on first call F1 per share and on second and final call J 2 per share. The issue was E‘“y‘zbs;gdon leotment g9 pfsr

were duly received with the exception of 2,000 shares held by Arul, who failed to pay the second and final c:ﬂ f‘" u;ehaagsoﬂe
. His

forfeited. Joiurnalise the above transactions. '
~ 47. a) Explain any five applications of computerised accounting system. (OR)

b) What is meant by retirement of a partner? List out the adjustments made at the time of ret; .
iy rélirement of a partner in a partnership

12 - Accountancy - 4
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DINDIGUL .

COMMON FIRST REVISION TEST -2023

V Standard XlI regio [ | [ | [ ]
ACCOUNTANCY
Time : 3.00 hrs Part- | Marks : 90
|. Answer all the Question:- 20x1=20
1. Incomplete records are generally maintained by ;
4) A Company b) Government
¢) Small sized sole trader business d) Multinational enterprises 4
2 |ncome and expenditure account isa
a) Nominal account b) Real account : :
c) Personal account d) Representative pefsonal account
3 Which of the following s shown In profit and loss appropriatiph-account?
a) Office expenses b) Salary of st_aﬁ
¢) Pariners salary d) Interest on Bank loap

10.

1.

B

If the old profit sharing ratio is more than the new profit sharngestio of a partner. the
difference is called '

a) Capital ratio b) Sacrifiging ratio

¢) Gaining ratio d) Noneof these

On revaluation , the increase in liabilities ieadiio

a) Gain b) Loss c)  Profit d) None of these

. Which of the following is true?

a) Super profit =Total profit / Number of years

b) Super profit =Weighted profit/ Number of years

c) Super profit = Average profit — Normal profit

d) Super profit = Average profit X Years of purchase

. Debt equity ratio is @’ measure of

a) Short term solvency b) Long term soivency
c) Profitability . d) Efficiency
. What are the predefined ledgers in tally?
) Cash ii) Profit &Loss Alc i) Czpital A'c
a) Only (i) b) Cnly (i)
c) Both (i) and (ii) d) Both (1) and (ui)

fn'a commen size balance sheet, if the percentage of Non-current assels is 7§ what
would be the percentage of current assets: -

a) 175 b) 125 c) 25 d) 100

Supreme itd., forfeited 100 shares of Rs. 10 each for non-payment of final call 6 Rs.2
per share. All these shares were reissued at Rs. 9 per share What amount will be

transferred to capital reserve account?

a) Rs. 700 b) Rs BOO ¢) Rs.SC0 d) Rs. 1000
In which voucher 8ype credit purchase of furniture s recorded in Tally

a) Receipt voucher b) Journal voucher

c) Purchase voucher d) Payment voucher

www wavytosuccess . org b 1L E wisteam 100@email com
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12.

13,

14

146

16

17,

18.

149,

20.

.
21.
. What is super profit?

" i) Profit sharing ratio -

(27} Xl Accountancy
A statement of affairs resembles a
a) Trading Afc
¢} Balance shasl
The supar profit is the difference between
a) Capital employed and Average profit  b) Assets and Liabililies
e} Average profil and Normal Profit d) Current year profit and Average profit
Balance sheet provides information aboul the financial Position of a business cancem
a) Ower a period of time b} As on a panicular date
©) Fora period of time d) For the accounting period
From the following which Is correctly matched
a) Subscription - Revenue receipls
b) Special fund - Revenue expandilure
c) Purchase of spors equipment -  Capital recaipls
d). Honorarium - Capital expenditure
At the time of admission, the goodwill brought by the new parner miay be credited lo
the capital account of
a) All the partners
c) The new partner
Match the following:-
List]
i) Remuneration of pariners -

b) Profit & Loss aic
d} Trial Balance

bj the old pariners
d} the sacrificing partner

List il
1. Section 13¢ >
2 Section 13d Br
iii) Interest on eapital - 3. Section 13b 2
iv) Interest on loan = 4 Section13a |
Codes: (i) {ii} (i {iv)
|

a) 2 3 4

b) 4 3 1 2 " 2
c) a 4 2 1 '
d) 2 1 4 3

Balaji and kamalesh are pariners sharing profits and losses in the.ratio of 2:1. They
admit Yogesh in to partnership. The new profit sharing ratio between Balaji,
Kamaleshand Yogesh is agreed to 3:1:1. Find the satrificing ration between Balajiand
Kamalesh. F

a) 1.3 b) 31 c) 21 Y d)1:2

Current assels excluding inventory and prepaid expensas 15 called

a)Reserves b} Tangible assets g} Funds d) Quick assets

In the absence of an agreement among the pariners, interest on capital is

a) Not allowed : ibyAliowed at bank rate

¢} Allowed @ 5%p.a ., " d) Allowed @ 6% p.a
. Part-nl

Answer any 7 questions.and (Q.No.30 is compulsory)
What is a statement of alfsirs?

Tul=z14

www waytosuceess org
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23

24
25
26

27
28

-8 =y

I,
3
32

(37) . X Accountancy
Mannan and Ramesh nhare profiy ANCRNSER I M i of 3 3 andl thesr cag ol o
April, 2018 was Ra 1.50,000@0d R51 [0 OO0 respactively Go W ey - ;
Show a credit balance of e 9 5, b6 i s ?E.Dm respacivdely Caleulons st e
capital at 6% p a for thes year unﬂhq::u'-i'u.-;r.;h, 2015 and show th T R '
What is sacnificing ratio? | =
What is meant by Reflfement of a ganer
Ramu, Somu agd Gogu are pafners shanng prafits in the ration of 36 7 Copureti
and his sharé W taken by Ramu and Somu in the ratio of 31 Find the rieeay :l..-r'
shaning rabe and gaining ralio - )
What ig'over subscriplinn?
Lakshmi was holding 50 shares of Rs 10 etk N which she pad Rs. 7 un spplicste s
but colld not pay R's 4 on allotment and Fs 2 first call. Directors forfeted the wngre:
after the first call Give journal entry Tor recording Ihe fSarfetyrs of | hares
VWhat is working capilal?

A

. From the following details, calculate the rriussing figure

Capial as on ' Apnl, 2018 =2 A0 0600

Capilal as on 31¥ March, 2019 Hs: &0 GO0

Additional eapial introduced during the year s LR Y]

Frafit for the year Rs 8 000

Orawings during the year ?
Part - 1l

Answer any 7 questions.and (Q.No.40 |s com pulsaryj Tei=21
State the differences between fixed capital method and fluctuating capital method
From the following information, calculate the value of goodwill under annuity method
Average profit Rs 14,000, Normal profit Rs 4 000 Normnal rate of return 15% 2na
Years of purchase of goodwill 5 Preseni value of Re. 1 for 5 years 3t 15%.0 a as pasr
annuity table s 3.352

- Write a bref note on accounting vouchers
. Prepare common — size incoma statement for the Toliowing particulars ! =iz

T
the year ended 31* March, 2047

Particulars | Rs. |
Revenue from operations 450,000
Chher income | 67,500
Expenses 1.35.000 |

. Aruland Anitha are pam'tarssharing:n‘uf' s and ocas in the ration ofd 3 On3t 32078

Ajay was admifted a5 a partner. Cn the date of admisson, the books of the fir showied
a general reserve of Rs.42.000. Pass journal entry ta distribute the ganers! reserve
Hari, Madhavan and Kesavan are pariners, shating profits and lossss in ©-= ratio of
5:3:2. From 1% Apnl 2017, Vanmathi is admitled nlo the paftnership and the new profit
sharing ratio is decided as 4 3:2 1 The following adjustments are 1o be made.

a) Increase the value of premises by Rs 80 000

b) Depreciate stock by R's 5000, Furniture by Rs 2.000 and Machinery &, R's 2 500

c) Provide for an outstanding labadity of Rs 500
Prapare revaluation account

] ) wisteam 100@gmail.com .
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37 Goutham fd.. forfeited 500 equity shares of Rs 10 each issued 2t par held h!' Ragav Plant and Maﬂhlﬂ-ﬂﬂl‘ B80:000 80,000
for nonpayment of the final call of Rs.2 per share. The shares were forfeited and Land and Buildings 1.40,000+ 1.40,000
|Sundry Creditors 1,70.000 130,000

reissued to Madhan at Rs.8 per share. Show the journal entries for forfeiture and

reissus.
. How will the following appear in the final accounts of Vedaranyam sporis club?

Opening stock of bats and balls Rs. 3,000

Anand had withdrawn Rs 80,0000 his parsofial use. He had introducad Rs.17,000
as capital for expansion of his-BilSiness. Create a provision of 5% on deblars.
Plant and machinery is 10 be depreciated at 10%.

Purchase of bats and balls Rs. 17,000 (OR)
Sale of old bats and balls Rs. 2,000 b) Kavithais a parfner lna firt. She wilhdraws Rs. 2,500 p.m reguiarly. Interest on
Closing stock of bats and balls Rs. 4,000 drawings s charged @4% pla. Calculate the interest on drawings using average

Calculate quick Ratio: Total current liabilities Rs. 2,40,000; Total current assets period, if she drawe

Rs.4,50,000; Inventories Rs. 70,000, Prepaid expenses Rs. 20,000, i) atthe beginning of every month
40. Find out credit sales from the following information: i) ifithe middle of every month
[ Particulars Rs. fii) atthe end of every month
Debtors on 1 April 2018 1,00,000 43.4) From the following information relating to parinership firm, calculate the value of
Cash received from deblors 2,30,000 goadwill on the bagis of 3 years purchase of average profits of the last 4 years

Discount allowed 5,000 )| Profits of the years 2015, 2016, 2017 and 2018 are Rs.10,000, Rs.12,500,
‘ Retums inward 25,000 Rs. 12,000 and Rs. 11,500 respectively t

| Debtors on 31* March 2019 120,000 iy The business was looked after by a partner and his fair remuneration amaunts

to Rs.1,500 per year. This amount was not considered in the calculation of

Part- IV N
Tx5=35

V. Answer all the gquestions. the above profits.

e

41 &) From the following particulars, calculate the trend percentages of Kumar Lid., (OR)
Rs. In thousands b) From the following particulars, prepare compa rative income statement .

j Particulars 7015-16 | 2016-17 | 2017-16 folowing B o T ET]

' [Revenue from operations 300 il 15'-}. Revenue from operatiahs 3,00.000 3,60,000
Qihar Incoms % e o Other income : 1,00,000 60,000
Expenses i) 200 o Expenses 2.00,000 1,80,000
il L 0% 0% - " income tax 30% 0%

(OR) ; ¢ 44. a) From the following information given below, prepare Receipls and Payments
b) Saranyahd., issued 20,000 equity shares of Rs. 10 each 10 the public af par. The aceount of Kurinji sports ciub for the year ended 31* December,2018
details of the amount payable on the shares are as follows: Particulars Be. Parficulars T8
On appastion Ra.3 per sisare Cash in hand (1.1.2018) 20,000 |Locker rent received 12,000
O allotment RS. 4 per share Investments made 80,000 |Sale of furniture
On firstand final call  Rs. 3 per share . Honorarium paid 3,000 |Genaral expenses
Application money was received on 30,000 shares. Excess application money Oonations feceived 80,000 | Postal expenses
was refunded immediately. Pass journal entries 1o record the above. Audit fae paid 2 000 | Subscription received 10,000
42 a) Anand does not keep his books under double entry system. Find the profit or loss - OR)
made by him for the year ending 31" M""-"h 2018. b) From the following particulars calculate lotal purchag.es.
Particulars 31.3.2018 Rs. |31.3.2019 Rs. Particulars Rs. Particulars
5000 (Dr) | 80,000 (Cr) Creditors on 1%Jah,2018 30,000 | Purchases retums
Cash at bank g Ve T 4500 Bills payabie on 1% Jan, 2018| 25,000|Cash purchases
Gagh i 404 ,iﬁg 45.000 Paid cash to creditors 1,20,000{Creditors on 31" Dec 2018,
g'uﬁfuiﬁ 1,00,000 50,000 Paid for bills payable 30,000 | Bils payable on 31* Dec

wWWw. waytosuceess . org
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45. 8) Rajan and selva are pariners shating profits and losses in the ratio of 3:2. Thelr
____balance sheel as on 31 March 2017 is as undar,
[ Liabilities | Rs Rs, | Assers _Rs. |
Capital accounts _E-Fuﬂl:lll‘lﬂ 25,000
Raian 30,000 Furniture 1,000
Selva 16,000 | 46,000 | Stock 20,000
General reserve 4,000 | Debtors 16,000
Creditors 37,500 | Bills receivable 3,000
Cash at bank 12,500
= Profit and Loss alc 1&“&
B7.500 87,500

On 1.4.2017, they admit Ganesan as a new partngr on the following arrangements:

i) Ganesan brings Rs, 10,000 as capital for 1/5 share of profit,

i) Stock and fumiture is to be reduced by 10%, a redante of 5% on deblors for
doubtful debls is 1o be crealed and Appreciate building by 20%.

Pass journal entnes and prepare revaluation account and parinans caplial accoun
after admission.

(OR)

b) Frem the following receipls and payments account, and from the Information
given below of Ramanathapuram sporis club, prepare Income and Expenditure
account for the year ended 31% March, 2018 and the balance sheet as on that
date.

Receipls Rs. Paymanis Rs.

To balance b/d By Ren 11,000

Cash in hand 5,000 By Entertainmen! expenses 113«9&

Cash at bank 10,000 15,000 |By Furniture 10,000

To Subscription By Sports material purchased | 13,000

207 12,000 By Malch expanses 1 112,000

2018 33,000 By Invesimenis made 28,

2018 16.000 61,000 |By Balance cid

To enfrance lees 8,000 |Cash In hand 1,300 .

To general donations 7,000 [Cash at bank 4,000 5,300

Tassle of old sporis
materals 1.000

To miscellanecus receipts 500

90,500 | {80,600

Additional information; ) \
i) Capital fund as on 1% January @018 Fa,30,000

wWWw. waytosuceess . org
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I Opening slock of

h sports mataral Fa 3 000 &nd eloning slock of sparty rivaboy il
5,000 .
48, Distinguish batwoan sacrificing rilo and galning ratio
_ om),
b} From the fallowing trading activilios of jones id., eaiculate
(1) Gross profil ratio (i) tiet profit ratia {ill) Opsrating cost ratio
- (i) Operating profi riftie :
B PertiCulars . | R
ol i 4 ____ &
I Revenusfram opkialions 4.00,000
I Otherincome N’
Incane from inveniments 4,000
., Total revenuas (1 + 1 4,04,000
IV Expensey -
Purchases of steck in trade 2.10,000
Changs In Inventories 30,000
Finance costs 24 000
Other expenses (administration and seling)) #0000
Total expenses 324,000
V. Profit before tax (111-1V) | soon0oo

b)

A partnership firm earmed net profite during the fast thires ;.re_m-.t -;;'3. fexllowe -
2016 Rs. 20,000, 2017 Rs 17.000, 2018 Fs, 23,000

The capital investment of the firm throughsul he abave mantiongd period has
been Rs 80,000. Having regard to the risk invoived, 15% s considersd 1o be a i
return on caplital employed in the business. Calculate the value of gosdwill an tre
basis of 2 years purchase of supar prafil

(OR)
Charles, Mulhu and sekar are pariners in a firm shanng profit and losses i (he

fatio of 3:4.2. The balance sheei as gn 319 December 2018 was as nllows:-

Liabiiitios Rs. | Assets i i _R'I_J

Capilal accounts: Furniture 20,000
Charlas (0,000 flock 40,000
Muthu ¥O,000 Deblors 30,000
Sekar O00080,000 Cash at bank 42 000
Workmen compensatior
fund 27000 Frofit and Less ale 18,0040
Creditors 33 000

15000 1,50, 000

Charles retires on 1% January 2019 subject 1o ihe fallowing conditlans

I? Stack 1o be apprecialed by 10%
i) Furniture to be depreciated by &%

i) Creale a provision o bad debts Fs 1,000

v} A unrecorded unpad repair expanses Hs 10 000

y The retiring parner shall be paid rmrnsdiately
fepare revalualion accoun!, parner's Eapital ancount and the balance sheel of
the firm alter relirement

i

L

wtateam 100@email com



WAY TO SUCCESS

m FIRST REVISION TEST - 2023

12- s
Time : 3.00 Hrs ACCOUNTANCY

A\-ye awilA

THANJAVUR 1 HAwT AvuRr
Y a) o0, A Nemrd A WA

DV TV LS

() |
Marks : 90 ‘

10.

11.

12.

13.

PART - 1
Note : (i) Answer all the questions. (11) Choose the most apprapriate ansvier

from the given four alternatives and write the options code and the
2071 =326

corresponding answer,
< .
Statement of affairs is generally prepared to find out the ... of the business,

a) Profit or loss b) Financial
¢) capital d) Arithmatical accuracy

Income and expenditure adcount is prepared to firfd out
a) Profit or loss 1) ©ash and bank balance
c) Financial position d) sotplus ordeficit

The maximum number of partners ina partnership firm s ... iy AR
a) 10 b) 20 ¢):30 d)'50

Which of the following statéments is time?
b) Goodwill is a current asset

a) Goodwill is 2n intangible asset

¢) Goodwill is a fictitious asset d) Goodwillcannot be acquired
On revaluzation the increase in liabilities leads to

2) Gzin b) Loss c) Profit d) None of these

Select the odd one out
2) Revaluation profit b) Goodwill brought by new partner
c) Accumulateddoss  d) Investment fluctuation fund
the Indian‘€ompanies act, 2013 application money must be

As per section 39 of
atleast ........ percent of the nominal value of shares.
g)5 b) 10 c) 15 d) 20

The financial statements do not exhibit .
data c) Short term data d).Long term data

2) Non - monetary data b) past
- Proportion of share holder’s funds to total assets is called

2) Debt equity ratio b) proprietary ratio c) capital galning ratio d) current ratio
Salary account COMES under which of:the following head? a) Direct Incomes

b) Direct Expenses ¢) Indirect Incomes d) Indirect Expenses
ally maintained by

Incomplete records are gener
a)a cﬁmpany , b) government
c) small'sized sole trader business  d) multinational enterprises
Receipts and payments account s a
~-a) Nominal a/c 3} real a/c . rsuﬁal e
representative pe
=) ety e A byi partnership firm, which of the .

ital method Is adopted

Il appear in capital accounts?
| introduced b) Interest on capital

share of profit
Tl&? 12 Accountancy EM Page -1

when fixed cap
following items Wi
a) Additional capita
i¢) Interest on drawings

m&rw.wa}rtdsu COESS.00E 13 .
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Rs. 1,00,000 ; assets are Rs. 1,50.000

14. The total capitalised value of a business IS
talization

and liabilities are Rs. 80,000 The value of goodwill as per the capf
method will be
a) Rs.40,000 ¢) Rs.1,00,000 d) 30,000

15. At the time of admission, the y be credited
to the capital accounts of

a) all the partners b) the old pariners
c) the new parners g) the secrifiang partners
profits and loises equally. x died OR 1

16. x, y and z are pariners charing
2022. Find wttmf.nmafun mmaznuwmtmm

which showed Rs. 16,000 %
a) Re. 1,000 b) Rs. 3,000 ¢) iy 12,000 :
17. Al the time of forfeiture, ShaTe capnal axoum B Aetiied
a) face value &) norrundl vIUE
@) calied wp

¢) pald up amount
18. Alimited company’s sales has treased o R 1.50,000. How
doos this appea’ in coMmpsaTative FEDTE
a) + 20% b) = 10 %,
19. The mathematical eepresean hat wre of the redatipethip
between two figutes & catiod
a) Conchusion b 2t &) izl
0. What are the e Setined ey (£] =
i) Cash i) prefit and % ¥) cagtal ac
a) onty (1) &) ) bath () st (5) @) beme 1) and [111)
pARY - 113
30 is compuiEety.
Ye2eid
Sherrer i, ¥5i3
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26. Adhavanm Mahilan and Parl are partners of a firm sharing profits and losses
equally, Adhavan retired from the partnership on 1.1.2023, On thar date thelr
balance sheet showed accumulated loss of Rs. 75,000 on the 55535 side of the

27 Ei:’:;:kshmﬂ Glve thelr Journal entry to distribule the accumulated loss.

\ 2 a Company Issued ecquity shares of Rs, 10 cach at 10% premium payable
Rs. 2 on application, Rs. 3 on allotment (Including premium) Rs. 3 on first call and
Rs. 3 on second and final call.
Murugan who holds 50 shares failed to pay the allotment money and first call and
his shares were forfeited after the first call, Journalise the transaction,

28, What is automated accounting system? |

29. From the following partlcuiars, prepare comparatiue income statement of
Ttharun Co.Ltd. - |

Particularsyn. e 0o, -ZGZP,-liﬂs. 2021 -22Rs.
Revenue from operationsii «n (¢ 2,00,000 2,50,0000
Otherincome -pew qo b 50,000 40,000
Expenses T ol I T SR 1,50,000 1,20,000

30. Calcualte quick ratio caf Jeevagan constructions Ltd. from the information given

below. ! /
Particulars Rs.,
Total current hablht:es +1,00;000
Totat current assets Z_,SD,GUG
Inventories . 35,000
Prepaid expenses 15, 000
PART - III
Answer any seven questions. Questions No. 40 is cumpulsnw. 7x3=21
31. From the fullawmg particulars calculate total purchases.
' '\ . Sundry creditors on 1st Januarf, 2022 " Rs. ‘30,000

' Paid cash to creditors Rs. 1,20,000
Purchases returns Rs. 15,000
Cash purchases Rs. 2,25,000
Creditors on 31* December 2002 Rs. 25,000

32, State the difference between fi xed capital method and fluctuating capital method.
. 33, " From the following particulars of Tamil Educational society prepare receipts and

payments acr.ount for the year en

-Farti:u!ars

Opening cash balance (1. 4 2021)

Rt.-‘:.r!t
Scholarship given

ded 31st March, 2022,

Rs Particulars Rs.

18,000 Entrance fees received 18,500

6,000 Building purchased 2,10,000
Staff salary 55,000

15,200
* Subscription received 2,65,000

TN] 12 Accountancy EM Page -3
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34,

35.

36.

37.

38.

39.
40.

A partner ;
P ship firm carned net profits during the last three years a5 follovis

iﬁzia;;?ﬁﬁﬂﬂl 2021 : Rs. 17,000 and 2022 : Rs. 23,000.
e &b UU;5|.[|“E”[ of the firm throughout the above mentioned period has
return il aving regard Lo tha risk Involved 15% 16 consldered to be a fair

on capital employed In the business. Calculate the value of gaadvill on the

basis of 2 years purchase of super profit.
Raja and Karthick are partners, sharing profits
Surya Is admitted Into the partnership with 1/5

new profit sharing ratio and sacrificing ratio.
Kavitha, Kumudha and Lalitha are partners sharing profits and lpsses'on the ratio

of 5 : 3 : 3 respectively. kumudha retires from on 31 Decembar, 2022. On the
date of rieterment on capital the firm accounts shows 8 crédit balance of

Rs. 2,00,000.

pass Journal entries if. :
1) the amount due is paid off immediately by chequé.
2) The amount due is not paid immediately.
3) Rs. 70,000 is paid immediately by cheque. _ -
Linthaya company forfeited 200 equity shares of Rs. 10 each issued at per held
by Dhileep for non payment of the final callof Rs. 3 per share. The shares were
reisuted to Mukil at Rs. 5 per share. Show the journal entries for forfeiture and

Ll

and losses In the ratipwef 3 : 2.
share in the profits, Caloulate

nover ratio of Devi Ltd.

reissue . _
From the given information calculate the inventory tur
particulars f 3 Rs.
‘rRevenue from operations ' 12,00,000
Inventnry-at-the beginning of the year 1,70,000
Inventory at the end of the year -~ 1,30,000
purchases made during the year 6,90,000
Carriage inwards - 20,000
Mention the commonly used voucher Lypes in Tally. ERP -9. .
" prepare common - size balance sheet of Nivedha Ltd, as on 31% March,2022.
particulars : 315tMarch 2022
II Equity and Liabilities - - .
- Share holder’s funds ' 2,00,000
Non - current liabilities 1,60,900
Current liabilities 40,000
Total 4,00,000
I Assets -
Non - current assets . 3400;000
' 1,00,000
4,00,000

[ i SR

P

current assets

Total ,
TN] 12 Accountancy EM Page -4
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Answer all tha fquest| PART
ons, 7%x5=235
41. a) From the following particulars, caleulate total sales,
Particulars Rs, Particulars Rs.
Debtors on 1" April 2021 . 2,50,000 Bills receivable dishonored 15,000
Bills rECEW;hIn on 1% April 2021 60,000  Returns Inwards 50,000
Cash received from debtors 7,25,000 Bills recelvable
Cash received for bills recelvable 1,60,000 on 31%* March2022 90,000
Bad debts 30,000 Debtors on 31# March2022_2,40,000
_ Cash sales 3,15,000
(OR) - .

- b) Explain any five applications of computerised accounting system.
a) Mithra Ltd, issued 40,000 éqqu shares of Rs. 10 each to the public payable
Rs. 2on application, Rs..5 on allotment and Rs. 3 on first and final.call. Applications
were received for 50,000 shares. The directors decided to.allot 40,000 shares on
pro-rata basis and surplus of application money was utilised for allotment. Pass
Journal entries assuming that the amounts due were received. (OR)

b) State the difference between receipts and payments account and income and
expenditure account; '

42.

43. - @) State any five factors determininig. goodwill. (OR)

b) John, James and Raja are partners in a firm sharing profits and losses equally.
Their balance sheet as on 31st March 2022 is as follows.

_Liahitities “ Rs. Rs. Assets Rs. Rs.
Capital accounts Office equipment 70,000
John 80,000 Machinery 1,40,000
James 60,000 - Sundry Deborts 52,000
Raja : 1,00,000 2,40,000 Loss : provision for

| ' ~;  doubtful debts 2,000 50,000
Sundry creditors 1.20,000 ' Stock 60,000
' - Cash at bank 40,000

3,60,000 3,60,000

Rajaretired on 31.3.2022 subject to the following conditions.

1) Machinery to be valued at Rs. 1,30,000

2) Value of office equipment to be brought down by Rs. 2,000

3) Provision for doubtful debts should be increased to Rs. 3,000 |

4) Investment of Rs.25,000 not recorded in the books is to be recorded now.
Pass necessary journal entries and prepare revaluation account.

TNJ 12 Accountancy EM Page -5
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# 44. &) From the following balance sheet of Arunne
e 1] nan Lid as on 31.03.2022. Calcufate
A s i - -
Jrily v ’ﬂfll'!'.'!ll--nrlﬂ“f LLET wret il ranivnl fonrieeg ratln

(1) Dl -

’ Particulara
T Eauity and Linbitiny e
1 Share blder ‘s tumds
a) Share capital
BO% prelerenee share capitnl -I"‘ﬁr,x{r
b) Reserves and suiplus g
2. Non - current labllities. S
Long term bormowin & '
3. Cutrent Hahilillen.gs- P U
a) Short term borrowing from Banks 25.0000
b) Trade payables ?5:;}.—35
Total’ : 10,00,000
II Assects f
1. Non - current assets .
Fixed assets 7,50,0G0
2) Non - Current liabilities
a) Inventories ' 1,20,C00
b) Trade receivables 1,00,000
c) Cash and cash equivalents 27,500
2,500

d) Other current assets expenses palid in advance
Total 10,00,000

B) Form the fo”ﬁwir_;g information relating to Maran enterprises, calculate the
value of goodwill an the basis of 4 years purchase of the average profits of 3

years. .
a) Profits for the year ending 31st December 2020 were Rs, 1,75,000. Rs, 1,50,000

and Rs.2,00,000 respectively.
b) a nor = recurring income of Rs. 45,000 Is included in the profits of the year

2020,
c) The closing stock of the year 2021 was over valued by Rs. 30,000.

a) Thefollowing Is the summary of cash transaction of Thanjai Literary Club for

the year ending 31* March 20202,
Thanial Literary Club

Receipts and payments account for the year ending 31st March 2022,
Rs.

45.

Receipts Rs. Payments

To Balance b/d cash In hand 3,200 By Rent and Rates 21,000

To entrance frees 2,300 By Lecture fees 4,500
TN) 12 Accountancy EM Page -6
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To Subscri
scription 46,000 By Sundry expenses 7,200

To
= IntEreu:E Membership fees 2,500 By Fixed Deposit 40,000
st received on fixed deposit 500 By balance ¢/d
to Sales of furniture (1.4,2021) 22,500 cash In hand 4,300

(Book value Rs. 25,000)

| 77,000 | 77,000
Additional information. |

1) Capital fund as on 1* April, 2021, was Rs. 63,200

2) At the beginning of the year, the club possessed books worth Rs5.20,000 and
furniture worth Rs. 40,000. e -

3) Subscription received In advance during the current year amoufted to
Rs. 1,000
‘Prepare income and expenditure account of the club for the year rending 31%
March, 2022 and the balance sheet as on that date. (OR)
b) Dinesh and Sugumar entered in Partnership agreement of 1% January 2022
Dinesh contributing Rs, 5,00,000 and Sugumar Rs:4,00,000.as capital. The
agreement provied that.
i) Profits and losses to be shared in the ratio of 2 : 1 as between Dinesh and
Sugumar.
i) Partners to be entitled to interest.on capital @ 6% p.a. _
iii) Interest on drawings to be charged. Dinesh Rs. 3600 and Sugumar : Rs. 2,300.
iv) Dinesh to receive a salary of Rs. 62.000 for the year and .
v) Sugumar is to receive a commission of 10% on the net profit after charging
such commission. : :
During the ﬁ,rrear ended on 31st December 2022, the firm made a profit of Rs.
1,20,000 before adjustment of interest, salary and commission.
Prepare the profit and loss appropriation account.

46, a) Ananth does not keep his books under double entery system. Find the profit or

loss made by him for the year ending 31% March 2022.

Particulars 31,3.2021 31.3.2022
Cash at bank 5,000 (dr) 60,000 (cr)
Cash in Hand 3,000 4,500
Stock of goods 35000 ' 45,000
Sundry Debtors 1,00,000 90,000
Machinery 80,000 80,000
Land and Building ' 1,40,000 1,40,000

" Sundrycreditors 1,70,000 1,30,000.

r his personal use. He had introduced Rs.
17.000 as capital for expansion of his business. Create a provision of 5% on

‘ _Machinery is to be depreciated at 10%. (OR)
pevtors " TN] 12 Accountancy EM Page -7
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b) Parithi and Siva are partners in a firm sharing profits and losses In the ratio of
7 : 5. Their balance sheet as on 31" March 2022 Is as follows,

Liabilities Rs. Assels Rs.
Capital accounts :
Parithi 70,000 Land 80,000
Siva 50,000 1,20,000 Furniture 20,000
Sundry creditors 30,000  Stock 25,000
profit and loss A/c 24,000 - Debtors 30,000

|  Bank 19,000

- -' 1,74,000°" " 1,74,000

Kabilan is admitted as a new partner on 1.4.2002 by introducing a capital of Rs.
30,000 for 1/3 share in the future ptofit subject to thefollowing adjustments.
i) Stock to be depreciated by Rs. 5,000

ii) Provision for doubtful debts to be created for.Rs. 3;000.

ii) Land to be appreciated by Rs. 20,000. _
Prepare revaluation account and capital accounts qf_ partners after admission.

47. a) Calculate trend percentage for the followirig particulars of Palai Ltd.

Particulars Rs.in lakhs
Yearl - Year2 “Year3 -
I Equality and Liabilities - |
Share holder’s fund 250 25> 3!]0.' :
Non - current liabilities, 100 125 100
Current liabilities : 50 40 80
Total . 400 440 480"
_ II Assets ' : _
Non = current assets . 300 360 390 |
Current assets 100 - 80 90 )
Total 400 440 480
S 000 from Suguna Furniture Ltd. It

purchased assets of Rs. 4,40,

ares of Rs. 10 each full paid in satisfaction of their claim. What ™

b) Karthick Ltd
‘lssued equality sh
entries will be made if such issue is.
a) at par and

b) at premium of 10%

TN) 12 Accountancy EM Page -8
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Ts12Acc Tenkasl District Common Examinations [_ ' T
TENKASL  Common First Revision Examination - January 2023 _f |

o%- ED'II ~b 2% Sta'm-d;lr:d-i

Time: 3.00 Hours gccnuuTAHcv i Marks: 90
Part-1 ¢ 20x1=20
Note : Answer all the quutlnns j
1) Statement of affairs is generally prepared to find m.st the sosieiee OF the’
business. ; .
a) Capital b]drawmgs § g profit d) loss

2) What is the amount of capital of the proprietor, if his assets are Rs.85,000
and liabilities are Rs.21,0007

a) Rs.B5,000 . b) Rs.1,06,000:: €)Rs.21,000 = _d)Rs:64,000
3) Income and expenditure account is a .
a) Nominal A/C .1 b) Real A/C i
c) personal A/C d) Representative persopal account
4) Amount received towards life membership fee from membersisa.............
a) capital receipt 'b) revenue receipt
c) capital expenditure 4|  d)revenueexpsnditure
5) When fixed capital method is adopted by a ﬁrm " A are opened for each
partner apart from the capital account of each partner. .
a) Current a/c b) Bank a/c = c) drawing a/c d) cash a/c
6) Which of the following is the incarrect pair?
a) Interest on drawings - tﬁghited to capital account
b) Interest on capital < Credited to capital account
c) Interest on loan - -+ Debited to capital account
d) Share of profit - Credited to capital account
7) Which of the following statements is true? :
a) Goodwill is an‘intangible asset b) Goodwill is a current asset
c) Goodwill is a fictitious asset ~d) Goodwill cannot be acquired

8) ' Which of thefollowing is true? “
a) Super profit = Total profit/number of years
b) Super profit = Welghted profit / number of years
c) Super profit = Averagé profit - Nérrna! profit
d) Super profit = Average profit « years of purchase
9) On revaluation the increase in the value of assets leads to
a) Gain b) Loss . c) Expense d) None of these
10) If the old profit sharing ratio is more than the new profit sharing ratio of a
partner, the difference is called.
a) Capital ratio b) Sacrificing ratio ¢) Gaining ratio d) None of these
11) Gaining ratio isthe proportion of the .......... which is gained by continuing partners.
a) Sacrifice b) Profit c) Capital d) None of these
12) A, B and C are partners sharing profits in the ratioof 4 : 2 : 3. C retires. The
new profit sharing ratio between A and B will be ,
a)d:3 BY3 4 cyZ:1 ' d)1:2
13) Authorised capital is the maximum amount that an be raised as capital as is
authorised by the ............

a) memorandum of association b} articles of association
c) prospectus d) pro-rata allotment
14) The amount recelved over and above the par value is credited to
., . @) securities premium account b) calls in advance account
.€) share capital account d) forfeited shares account
15} Balance sheet provides information about the financial position of a business concem
a) Over a period of time b) As on a particular date
c) For a period of time d) For the accounting period
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16) Expensgs for a businessfor'the first year were Rs.80,000. In the second year, it
was increased to Rs.88,000. What is the trend percentage in tihe second year?
a) 10% b) 110% c) 90" * tg 11%
17) The mathematical expression that provides a measure of the relationship
hetween two figures is called Nyfi _ '
'a) Conclusion b) Ratio c) Model ~ d) Decision
18) Proportion of share holders funds to total assets is called ' '
a) Proprietary ratio ! b) capital gearing ratio
c¢) Debt equity ratio } . ~ d) current ratio
rm* in Tally?

19) Which is not the default g il
a) Suspense account b) Outstanding experse
c) Sales account N d) Investments
20) Rs.25,000 withdrawn fram bank for office use. In which voucher type, this
transaction will be recorded. ) 3 8 '
a) Contra voucher . b) ReceiptVoucher c) Purchase voucher d) Sales voucher
- - ~ Part-11 ey 7x2=14
Note : Answerany seven questions .
Question No. 30 is compulsory
21) What is meant by incomplete records? . 7 .
22) Give four examples for capital receipts of not-far-profit- organisation.
23) What is a partnership deed? | : :
24) What is super profit?
25) What is sacrificing ratio?
26) What is automated accounting system?

27) Sara company issues 10,000 equity shares of Rs.10 at a premium of Rs.2 -
each payable fully on application..Pass journal entries. .
28) Calculate quick ratio: Total cuprent lizhilities Rs.2,40,000; Total current assets
Rs.4,50,000; Inventories Rs.70;000; prepaid expenses Rs.20,000 i
29) Calculate the value of goodwill at 2 years purchase of average profit when
- average profit is Rs. 15,000. 4
- 30) ‘From the following particulars ascertain profit or loss:
Particulars ' Rs,
Capital at the beginninig-of the year(1*" Apiri, 2018) |5,00,000
Capital at the end of the year31** March, 2019)  |8,50,000|

| ' Additional capital introduced dufing the year 1,20,000|
Draiwings during the year : 70,000
Part - I11 7x3=121

Note 't Answer any seven questions
Question No. 40 is compulsory
31). Find out credit sales from the following information:

| Particulars Rs.
Debtors on 1°° April, 2018 - 1,00,000 SR
Cash received from debtors 2,30,000

Discount allowed ;s - 5,000

Retums inward 25,000

Debtors on 31°" March 2019 1,20,000

32) From the following particulars, show how the item 'Subscription’ will appear
in the Income and Expenditure Account for the year ended 31.12.20187
subscription received in 2018 is Rs.16,000 which includes Rs.3,000 for
2017 and Rs.5,000 for 2019. Subscription outstanding for the year 2018

is Rs.4,000. Subscription of Rs.2,000 was received in advance for 2018 in
| the year 2017, '
|
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33) Distinguish between sacrificing ratio and gaining ratio. : '
34) John isa partner.in a firm. He withdraws R5.1,000 p.m. regularly. Interest on
drawings is charged!'@ 5% p.a. Calculate I:he Interest on :Erawlngs using

average period, if he draws

i) atthe b&glnmg of every month -
il) in the middle of eyery month
lii) at the end of every month

F

35) From the following detalls, calculate the value of goodwill at 2 yéars purchase
of super profit: _
a) Total assets of a firm are Rs.5,00,000
b) The liabilities of the firm are Rs.2 GD:-GDL'I
¢) Normal rate of return in this class of business is 12. 5%
d) Average profit of the firm is Rs.60,000. £
36) State the difference between preference shares and equity shares:
37) Rajan Ltd. purchased machinery of Rs.6,00,000 from Jagan Traders, It issued
‘equity shares of Rs.10 each fully paid in satisfad:inn of their efairmiy What éntries
will be made if such issue is made (a) at par and (b) at a prermium of 50%
38) From the following particdlars, prepare comparative Tm‘:nme Etafments af
Daniel Lid,
Particulars 201556 Iﬂlﬁ -I?_
: “ Hs. Rs.
Revenue from cperations 40,000 50,000
Operating expenses . 25,000 27,500
Income tax(% of the profit before tax) 30% 30%
39) From the following information calcdlate debt equity ratio.
Balance Sheet (Extract) as on 31st March 2019
Particulars AMOUnE
Rs.
I. EQUITY AND LIABILITIES
1. Shareholders' funds
(@) Share capital
Equity share capital B,00,000
(b} Reserves and surplus. . 2,00,000
2. Non-Current liabilitiés '
Long-term barrowings (Debentures) 6,00,000
3. Current liablities
{a) Trade payables 1,60,000
{b) Other current liabilities
i Outstanding expenses 40,000
L] Total 16,00,000
40) Mention the commonly used vouchér types in Tally.ERP 9.
' Part - IV 7x5=35

Note ':' Answer all the questions.

41) a) On 1% Apir 2018 Subha started.her huslness with a capital of Rs,1,20,000.

She did not maintain proper book of accounts, Following particulars are
available from her books as on 31.03.2019,

Particulars Rs. Paritculars Rs.
Bank over draft 50,000|Stock-in-trade 1,680,000
Debtars . 1,80,000|Creditors 90,000
Bills recelvable 70,000|Bills ‘payable 2,40,000
: Computer 30,000|Cash in hand 60,000
ol Machinery 3,00,000

During the year she withdraw Rs.30,000 for her personal use. She introduced
further capital of Rs.40,000 during the year. Calculater her profit or loss.

www. waytosucecess org
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b) From the following statem
() Grrass profit ratio: 1.

4

Statement of profit ahd Loss
T s

ent of pr-:-f'rl.' and loss of Mykesh Ltd.
(i) Net profit ratio | "

2l

g e ot Partmulars £ A;rnlr.!'qnt

\ﬁ © |l Revenue frnm ‘Operations | 5 ;ﬂﬂﬂ
B L “\ln | 1|, Otherincome: o I * :

¥ LA ‘"Q’ Income from investment | A 40,000

2 9 :Eﬂ . Total revenuas{lﬂlj 'S'MJGGEI
;ﬁc @ IV. Expenses; S o

g Purchase of stock in trade 1,80,000

T ¢l R | - Fhangesininventories | 20,000

iy ‘@ g Employees benefits expense 30,600

' g Fa Other expenses 1,10,000

i ¥ ‘;g Provision for tax ' * 50,000

= E t‘ Total expenses 390,000

M) V. Profit for the year | 1,50,000

42} @) From the following particulars of Chennai Sports Culb,
and Payments account for the year ended 31 March,

prepare Receipts
2018.

Particulars 1" Rss Particulars Rs. | Rs. |
Opening cash balance as on _ Nl _
1.4.2017 10,000 | Subscriptions received
Opening bank balaneeas an . '
1.4.2017 i 15,000(2016 - 2017 4,500
Interest paid | 5,000|2017 - 2018 ' 65,000
Telephone expenses. 7,000/2018 -2019 -, 5,000| 74,500
Upkeep of grounds 22,500 -
Life membershig:fees necelved 5,500{Tournament expenses 12,500
_ Tournament fund .
Bats and ball purchased 13,000|receipts ' 15,000
! Closing balance of
cash (31.3.2018) 5,000

(OR)

b) Har1 Madhavan and Kesavan are partners, sharing profits and iusses in
the ratio of 5 : 3 ; 2. As from 1% Apirl 2017, Vanmathi is admitted into
the partnership and the new profit sharing ratio is decided as 4: 3: 2 :
1. The following adjustments are to be made.

a) Increase the value of premises by Rs.60,000.
b) Depreciate stock by Rs.5,000, furniture by Rs.2, nnn and ma-::hinenr

by Rs.2,500

* ¢) Provide for an outstanging liability of Rs.500
Pass journal entries and prepare revaluation account.

43) a)
partnership deed.

How will you deal with the following. ;
) Akash has contributed maximum capital. He demands interest on captial

at 10% per annum

L
|

Akash, Bala, Chandra angd Daniel are partners in a firm. There is no

ii} Bala hEIS withdrawn REH,DDG per mnnth. Other partnﬂﬂ ask Bala to

vww wayioguceess . org
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agree to it.

WAY TO SUCCE%SAkash demands the profit to the shared in the capital ratia, But,

others do not agree

iv) Daniel demands salary at the rate of rs.10,000 per month as he
spends fulltime for the business.

v) Loan advnaced by Chandru to the firm is Rs.50,000. He demands
Interest on loan @ 12% per annum.

(OR)
b) Explain any five applications of computerised accounting system.

44) a) Joy company issued 10,000 equity shares at rs.10 per share payable
Rs.5 on application. Rs.3 on allotment and Rs.2 on first and final call:
The public subscribed for 9,000 shares. The directors alloted all the
9,000 shares and duly received to money, Pass the necessawjournai

entries.
(OR)
b) Prepare Common-size balance sheet of Meena L_m as.on31% March,
2018, :
i Particulars ;-3151 M‘“"* =018
| o O B |
1. Equity and Liabilities | |
| Shareholeders' Fund * 2,00,000 |
| Non-current liabilities . j 160,000
Current liabilities ; | 40,000
Total | =1 400,000
Il Assets
Non-current assets 3,00,000
current assets 1,00.000
) Tutal ' 400,000

; Anu company fnr**e;ted EEI-EI £2uity shares of Rs.10 each issued at par
held by Thiyagd for nonpaymenrt of the final call of Rs.3 per share. Th2
shares were reissued to LaX™azan at Rs.6 per share. Show the jourm=
entries for forfeitur2 and refSsue

Al

{Uﬂ)
b} Caicuiate trend percentagesfcr the following particulars ¢ Fa'al 102
. Rs. In laks
Particualr Year1 Year2 Years
L Equity and Liabilities
Shareroioers’ Fund 250 'S 0
Non-cumert bR |18 15 106
cufrert ebites ¥ =2 | &g 8
Towal _&C Lo | 490
IL Assetls
Non-current Assets 30 k2 =0
Cuarent assets 100 80 X
Tors 20C L8 <X
46) a) From the followings paritcutars ca'culate totai purchases
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Particulars Rs. Particulars Rs. |
Sunday creditors on 1.1, 2018 30,000|Purchase returns 1.5,(1]}|
Bills payable on 1.1.2018 25,000|Cash purchasles 2,25,000
Paid cash to creditors 1,20,000| creditors on 31.12.2018 25,000,
paid for bills payable 30,000{Bills payable on 31.12.2018|  20,000|
(OR)

b) From the following receipts and payments account of Tenkasi Thiruvalluvar
Manram, prepare income and expenditure account for the year ended
315t March, 2019.

Receipts Rs. Payments Rs.o |
Ta Balance b/fd By Salaries 29,000]
Cash in hand 14,000{By Rent 24, 0001
To Interest received 5,000|By Travelling expenses 2,000
To Subscription 55,000|By Printing and stationary 6,000
To Legacies 48,000|By Investments made EG,ﬂﬂD
By Sports, eguipmaft.
To Entrance fees 7,000|purchased “N@3,000
Ta Sale of |
furniture{Book value By Balance'g/d €ash in
Rs.17,000) 16,000|hand 10,000
1,45,000 1,45,000
47) a) 1) What Is meant by retirement of a partner?
ii) Janani, Janaki and Jamuna are partners sharing profits and losses in
the ratio of 3 : 3 : 1 respectively. Janaki died on 31 December 2017,
Final amount due to her showed.a credit balance of Rs.1,40,000. Pass
journal entries if, ¥
a) The amount due is paid off immiediately *
b} The amount dueis not paid Immediately.
c) . Rs.75,000 i5 paid and the balance in future.
(OR)
b) Calculate(l) Trade receivable turnover ratio and
(i} Trade payable turnover ratio.
j As on 31% As on 31%
f Particulars March, 2018 | March, 2019
Rs. Rs.
Trade recelvables 80,000 60,000
Trade payables 40,000 50,000
Additional information:

1) Revenue from operations for the year Rs.10,50,000.
ii)- Purchases for the year Rs.4,50,000

Assume that sales and purchases are for credit.

- =

SBIVAKUMPR. W, g R maime B2,
vallinn. o989, Temkwss DS
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; FIRST REVISION TEST -2023 -
XII - s ACCOUNTANCY [(TT1
—Time:3.0011rs Marks 90

L Clioose the correct answer (20X | =2

L. Closing capital + Drawings - Additional capital= ?
) Adjusted openingeapital(b) opening capitalic) profit / loss (d) Adjusted closing capital

il Which of the following items relating to bills payable is transferred to total ereditors account?
(a) Opening balance of bills payable  (b) Closing balance of bills payable
(¢) Bills payable accepted during the year  (d) Cash paid for bills payable

3 Balance of receipts and payments account indicates the
() Loss incurred during the period  (b) Excess of income over expenditure of the period
() Total cash payments during the period (d) Cash and bank balance ns on the date

4 There are 800 members in o club each paying Rs. 100 as annual subscription. Subscription due bt st recei m.l rnr,H'm
current year is Rs.200; Subscription received in advance is Rs.300. Find out the amount of s uhsc:-pﬂun 1o be show in the
income and expenditure account.  a) Rs.80,200 [y} [Rs. 80,000 ¢) Rs. 79,500 ll!l Rs 79900 u

5 In the absence of an agreement among the partners, interest on capital is o

. (a)Notallowed (b) Allowed at bank rate (c) Allowed @ 5% per annum  (d) Allowed @-ﬁ” ”i'g:r nnm!m '

[ Profit after interest on drawings, interest on capital and remuneration is Rs. 11,000, Gcrlha"g;aﬂncr 'Hs entitled 1o receive '
commission @ 10% on profits after charging such commission. Find out -:nmmmfnﬁ h,’l H’Jﬂﬁ
(o) Rs.1,100 (c) Rs.550 {d) Rs. 1000

7. Book profit of 2017 is Rs.35,000; noa-recurring income included in the prafit is il; 1,600 1!'-:1 abmnnn! lnss charged in the
year 2017 was Rs.2,000, then the adjusted profit is (a) Rs.36,000 th] IH 15000 EJ,IB:M 000 (d) Rs.34,000

£ Which of the following statements is rue? ;
{8} Goodwill is an intangible asset (b) Goodwill isa .;-um!m assel -I-
(e) Goodwill is a fictitivus nssel (d) {mndwlllcn‘hmu be acquired
g, The profit or loss on revaluation of assets and liabilities isaransferred to the capital account of () The old partners

{b) The new partner  (c) All the partners {(d) The Sar.nﬁﬁug:}mnnﬂf
10, Atthe time of admission, the goodwill brougit by the new farner may be i;'cttr!u!m the capital accounts of
(a) all the partners  (b) the old partners (€] the new partaer (d) the sacrificing partners
1. A pariner retires from the partnership firm m.‘iﬂ?ﬁ Jubie. He is liable for all the acts of the firm up to the '
{a) End of the currenl accounting period (b) End of Ii:H! prﬂmrm uccmmlmg period
: (c) Date of his retirement  (d) Date ofhis final scultmenl
122 X.Yand Z were partners sharing nrq'f' ts and lﬁiticqually X died on 1st April 2019, Find out the share of X in the profit |
of 2019 based on the profit of 2018 Which showed Rs.24,000, ;
(a) Rs.8,000 (b)Rs3.000" H{c)Rs2000  (d)Rs24,000 ]
13. At the time of forfeiture, shiare.capital accaiint is debited with
(a) Faee value ilﬂ Naminalwalue  (c) Paid up amount  (d) Called up amount
14, The amount received over and above the par value is credited to
a) Securities pmmium abcont b) Calls in advange aceount ¢) Share capital account d) Forfeited shares account
15, Which of thefollowi ing is nol a toal of financial statement analysis? |
a) Trend analvsis u}‘{_{_g__m_mun size statement ¢) Comparative statement  d) Standard costing-
16.  Balancgsheet provides Information sbowt the financial position of a business concern
a) {hcr,n pl.rhﬁ of time b) As on a particular dale ¢) Fora period of time  d) For the accounting period
17 Current nsstls cm‘lu{lmg inventory and prepaid expenses is called
* (a) Resm o5, (b) Tangible assets (e} Funds {d) Quick assels
I8 st of revénue from operations Rs.3.00,000; Inventory of the year Rs.60,000; Inventory turnover ratio is
AR {a) Ztimes (b) 3 times () Gitimes (d) 5 times
19. Runction key F11 is used for
{#) Company Fentures (b} Accounting vouchers (¢) Company Configuration (d) None of these

20, Rs.25.000 withdrawn from bauk for office use. In which voucher type, this transaction will be recorded
{n) Contra Voucher (b) Receipt Voucher {c) Payment Voucher (d) Sales Voucher
| ANSWERANY TQUESTIONS (Q.ND.: 3015 COMPULSORY) (1X2=14)
2l Give four examples for capital receipls of not-for-profit organisation,
2. What is o partnership deed?
23 What are Anancial statements?
M. What is gaining ralio?
25, Fromthe following infurmation, calculate debt eguity ratio:
RAL 12 EM Ade M-
Y] b l
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Balance sheet (Extract) as on 31.03.2018

PARTICULARS Rs.
i Equity and liabilities .

I. Sharcholders’ funds

{n) Shure copital

Equity share capital 1,00,000

L%~ (b) Reserves and surplus 60,000

2. Non-current linbilities _

Long=term borrowings (Debentures) BO,000

3, Current liabilities

(n) Trade payables 50,000

b) Other current liabilities

Ctstanding expenses 30,000

Total ' 13,20,000
From the following particulars ascertain profit or loss. '

PARTICULARS - Rs.

Capital as on |5t January, 2018 i 2,20,000

Capital as on 3 1stDecember, 2018 1,80,000

Additional capital introduced during the year 40,000

Goods withdrawn for personal use by the owner 50,000
The capital account of Arivazhagan and Srinivasan on 15t January 2017 showed a balance of Rs. ii 000 and Rs. 10,000
respectively. On Ist July 2017, Arivazhagan introduced an additional capital of RY:5,000 and o 1st September 2017
Srinivasan introduced an additional capital of Rs.10,000. Calculate interest on r._mp!!ui at 6% p.a. Tor the year ending 3 15t
December 2017,
Mary, Meena and Mariam are partners of a firm sharing profits and Imsrzﬂ eqlmﬂy Mary, retired from the partnership on
1.1.2019. On that date, their balance sheet showed accumulated loss of Rs.75.000 nriihc asset side of the balance sheet. Give
the journal entry to distribute the accumulated loss.

Sara Cﬂmmn:-,r issues | (U000 equity shares of Rs. 1 0-at a premium of E&.,‘E ench p:a:-'-‘:l::le fiilly on application.Pass journal entries .

‘What is automated accounting system?

ANSWERANY 7 QUESTIONS (Q.NO.: 4018 CUMFUL.'EDR":’} (7X3=21)
Write a brief note on the applications of the provisions of the IndianPartership Act, 1932in the nbﬂ:m:e of partnership deed.

Bring out any three limitations of ratio analysis.

What are the adjustments required at the time of admissionafa partner?

From the following information, compute the vn]unnfgnudwm as per annuity method:

{a) Capital employed: Rs.50,000  (b) Normal rate of refurn: 10%

(¢) Profits of the years 2016, 2017 and 2018 sere Rs.13 000, Rs.15,000 and Rs, 17,000 respectively.  (d) The present
value of annuity of Rs.| for3 vears at 10% is B, 2 4868,

Prepare common-size balance sheetof Sharmile Ltd. and Sangeetha Lid. as on 31st March, 2019,

Particulars " Sharmila Ltd Rs. Sangeethn Ltd Rs.
|EQUITYAND LIABILITIES S
Shareholders’ funds 300,000 11,00,000
© Non-current liabilities 4,00,000 *7.00,000
Current linbilities o < 1,00,000 ; 200,000
Total ' 10,00,000 20,060,000
IHASSETS ' ; _
Mon-current assels 650,000 18,00,000
Current msscts 3,50,000 - 2.00,000
Total 000000 - : 20,00,000

Raithna, Baskar and Tbrahim ate partners sharing profits and losses in the ratio 0f 2:3:4 respectively. Rathna died on 315t
December, 2018, Final amount due to her showed a credit balance of Rs. 1,00,000. Pass journal entries if,

o(a) The amount due is paid off immediately by cheque,

(b)Y The amount due is not paid immediately.

(€) Re.60,000 is paid immediately by cheque.

‘Rathna Kumar and Arockia Das are partners in a firm sharing profits and losses in the mhu of 3:2, Their balance sheet as
on 3 1st March, 2017 is as follows:

Liabilities Rs. Rs. Assets Rs.
Capital accounts: Buildings 30,000
Rathna Kumar 30,000 _ Plant 60,000
Arockia Das 50,000 80000 Furniture 20,000
Profit and loss appropriation A/e 20000 Debtors 10,000
General reserve 5000 Stock 15,000
Workmen compensation fund 15000 Cash at bank 15,000
Sundry ereditors 30,000
1,50,000 150,000 RM 2 dge p.
} \
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David was admitted into the partnership on 1.4.2017. Pass journal entry to distribute the accumulated profits and reserve
on admission,

Compute income fram subscription for the year 2018 from the following pam:umrs relating 1o a club.Subscription received
during the year 201 §: Rs. 45,000,

Particulars L1.2Z018Rs. JLI12.2018Rs,

Outstanding subseription 3,000 5,000

Subscription received in advance 4,000 7,000

Following are the balances in the books of Thomas as on 31st March 2019,

Particulars Rs. Particulars Rs.
Sundry creditors 6.00,000 Bills payable 1,220,000
Furniture : 80,000 Cash in hand 20,000 '
Land and huilding 3,00,000 . Billsreceivable 60000
Sundry Debtors 3,20,000 Stock 220000

Prepare a statement of affairs as on 315t March 2019 and calculate capital as at that date.
State the differences between Receipts and Paymenis Account and Income and Expenditure Accounl.

ANSWERALL THE QUESTIONS, {(Tx5=135)

A From the following particulars, prepare comparative income statement of Barani Ltd.
Particulars 2016-17Rs. ' 2017-18Rs,

Revenue from operations 30,000 45,000

other income 4000 6,000

Expenses 10,000 15,000

Income tax T3 0% (OR)

B. From the following Receipts and Payments Account of Friends Football cluby for the vear ending 3 15t March, 2017,
prepare Income and Expenditure Account for the year ending 3 Ist March, 2017 nnd the Bﬂlanﬁ: sheet as on that dllh:
In the books af Frffm.'s Foothall Cluh '
Dr. Rece.fp.l's and Payments Account for the year m.:.‘ad 3t M:.rrr.'k. 2007 Cr.

Receipis Is. Rs.  Payments  Rs. Rs.

To Balance b/d By Furniture 7,000

Cash 1,000 ' By Sports materials pirchased 800

Bank _ 10,000 11,000 By Special dinner expenses - 1,500

To Subscriptions 5000 By Electrigity charges

. To Legacies \ 6000 By Balancegid

To Collection for 2000  Cashin hand 1800

special dinner : Cash, at'bink 12,000 13,800
24,000 T 3 24,000

Additional information:

{i) The club had furniture of Rs. 12,000 ondst April 2016, Ignm: depreciation on furniture.

(ii) Subscription outstanding for 2016- 2017 Rs. 600, | (iif) Stock of sports materials on 31.03.2017 Rs. 100,
(iv) Capital fund as on 15t April 2016 was Rs.23,000,

A. Caleulate trend perceut'l!,es forthe follmvmg;pnm(:ulnrs of Palai Ltd.

Particulars 4 Rs.in lnkhs
. Year | Yearl Yeard
1 EQUITYAND LIABILITIES
Shareholders’ fund. 350 775 300
* MNon-current liabilities _ 100 125 100

Current liabilities 50 40 80

Total 400 440 480
[LASSETS

Mon-current B4sets 300 360 300
Current assels : 100 & ) a0 '
Toual 400 440 480 fOFK)

B, On'lst Apnl 2017, Ahmedstarted his business with a capital of Rs.92,800. He did not maintainproper book of accounts.

Following particulars are available from his books as on 31,3.2018, Find the profit or loss made by him for the year ending
3l 5t March, 2018.

Buarticulars 31.3.2018Rs. Particulars 31.3.2018Rs,
Bank balance 18,000 (D) Debtors 30,000
Cash in hand 1,500 * Plant £0.000
Stock ' 16,000 Furniture . 40,000
Creditors 72,000.

Ahmed had withdrawn Rs.40,000 for his personal use, He had introduced Rs. 16,000 as capital for expansion of his buﬁmcﬂ

A provision of 5% on debtors is to be made. Plant is to be depreciated at [{l% :

A Dinesh and Sugumar entered into & partnership agreement on 15t Junuary 2018, Dinesh contributing Rs.1,50,000 and

Sugumar Rs.1,20,000 as capital, The agreement provided that:

(a) Profits and losses to be shared in the ratio 2;1 as between Dinesh and Eug,urnar (b) Partners to be entitled 1o interest

on capital & 4% p.a. (¢) Interest on drawings to be charged Dinesh: Rs.3,600 and Sugumar: Rs.2, II:}D Sd[] Dinesh to
i

dee Page - 3
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receive asaliry of Rs.60,000 for the year, and (e) Sugumar lo receive a commission of Rs 80,000 During the vear ended on
Hst December 2018, the firm made a profit of Rs.2,20,000 before adjustment of interest, salary and commission.

Prepare the Profit and loss appropriation account. (R)

B. Caleulate operating profit ratio under the following cases.

Case 1: Revenue from operations Ks, 10,00,000, Operating profil Rs. 1,530,000,

Case 2: Revenue from operations R, 1 5,00,000, Operating cost Rs, 12,00,000.

Case 3: Revenue from operitions Rs.20,00,000, Gross profit 30% on revenue from aperations, Operating expenses Rs 4.00,000
A From the following particulars, ealeulate total sales.

Particutors “Rs.  Particulars Rs.
Debtors un 16t April 2018 250000 ° Bills receivable dishonoured 15,000
Dill$ receivable on 1st April 2018 60000 Returns ipward 50,000
Cash received from debtors . 125000 Bills receivable on 316t March, 2019 90,000
Cash received for bills receivable 160000 Sundry debtoes on 31st March, 2019 240000 7
Bad debis 30000 Cash sales 315000 o=t

fOR} BD.Calculate the volue of goodwill at § years purchase of super profit from the follpwing informalion:
() Capital employed: Rs.1,20.000 (b) Normal rate of profit: 2006 P e
(¢) Net profit for 3 years: 2014: Rs.30,000;2015: Rs.32,000;2016: Rs.35,000; 2017; Rs.37.000 and 201 §: Re0000

() Fair remuneration to the partners Rs.2,800 per annum. P )

*A Veena and Peard are partners in a firm sharing profits and losses in the ratio of 2:1. Theirbalance sheetasiin 315t March.
2018 is as follows: s

Liabilities Rs.  Assets F 5 Ry
Capital accounts Buildings gy o 60,000
Veena 60,000 Machinery i 3 30,000
Pearl 40,000 100000 Debtors . /20000
General reserve 30000  Stock 7 Same” 10000
Workmen compensation fund 10000 Cash at bank , 30.000
Sundry creditors 10,000 . g

" 1,50,000 _gF « 150,000

Deri is admitted on 1.4.2018 subject to the following conditiohs;
() The new profit sharing ratio among Veena, Pearl and Déviis 5:3:2. (B) Deri has to bring a capital of R$.30,000 (¢} Stock
to be depreciated by 20 (d) Anticipated claim on warkmengompensation fund is Rs.1,000 (¢) Unrecorded invesinent
of Rs. 11,000 has to be brought inta books (f) The gbodwill of thefirm is valued at Rs.30,000 and Deri brou ght cash for his
share of goodwill. The existing partners withdrat the effirémmount brought by Deri towards goadwill, (g) Revaluation
Profit- Rs.9,000 :
Prepare Capital accounts and balance sheet afier admission, (OR)
B. Explain any five applications of compisterised accounting system.
A. Rajan Ltd. purchased machinery/of Rs.6,00,000 from Jagan Traders. It issued equity shares of Rs. 10 each fully paid in
satisfaction of their claim, What eniries will be made if such issue is made: *
(a)atparand  (b)atapremiumof30%. (OR) :
B. Muthu, Murali and Manojare pantnersin a firm and sharing profits and losses in the ratio 3:1:2. Their balance sheet as
on 315t December, 20 [STI__giv enhelow; ¥

Liabilities _ Rs. - Assets s,

Capital accounts; ™ s Machinery 45,000

Muthu 20,000 . Furniture 5,000 &
Murali 250800 %, Debiors 30,000
Mangj20000° - 65000 Stock 20000
General feserye ', ¢ 6,000

Creditors " % 20,000

' 100,000 1,00,000

L Mﬁqu rﬂll'H‘ on 31&t December, 2018 subject to the following conditions: (i) Muthu and Murali will share profits pnd
" Inssesin the ratio of 3.2 (ii) Assets arc to be revalued as follows: Machinery Rs.43,000, stock Rs. 27,000, debtors Rs.28,000,

4 3 {i}hﬂﬁndwill of the firm is valued t Rs.30,000 (iv) The final amount due to Manoj is not paid immediately Prepare Revaluation

47,

. aecountand Capital accounts after the retirement of Manoj,

A. The following particulars are available in respect of a business carried on by a partnership firm:
(a) Profits eamed: 2016: Rs.30,000: 2017: Rs.29,000 and 201 8: Rs.32,000.(b) Profit of 2016 includes anon-recurring income of
Rs.3,000.(c) Profit of 2017 is reduced by Rs.2,000 due to stock destroyed by fire. (d) The stock is not insured. But, jy i
decided to insure the stock in future. The insurance premiurm is estimated ot Rs.5,600 per annum.

You are required to caleulate the value of goodwill on the basis of 2 years purchase of average profits of the last three
years.  (OR) '

B. Gemini Lid. forfeited 20 equity shares of Rs. 10 eacl.. Rs.7 called up, on which Mahesh had paid application and allotmiem

money of Rs.5 per share. Of these 15 shares were reissued to Naresh by receiving Rs.6 per share paid up as Rs 7 per share
Pass journal entries for forfeiture and reissue. '

' m—aaim . l
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